1SD/BR 2011 Number Theory 2 1oth March

1.
2.

3.

Write down all the prime numbers between 1 and 100,
What is the 12¢* triangular number?

What is the 15 Fibonacci number?

. What is the 100** square number?

Use the following list of numbers in this question:
&

27, 30, 225, 437, 2021, 4767, 5568, 6625, 2376 000, 8 722 890.

From the list write down the numbers that ave divisible by:

(a) 25 (e} 9
(b) 3 () 4
(cy 2 () 11
(d)-5 : (h) 8
Write down the factors of the following numbers:
{a) 72
(b} 462
(c) 41

. Find the HCF of the foﬂowing numbers:

@; 3564 and 11375
(b) 6800 and 9900

Find the LCM of 1080 and 9900. -

. Evaluate:

(a) V3136
@' V11576%5
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